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Let’s determine the interest per a year by using
an extraction of cubic root
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If you lend 5k°ku for three years, the sum of its cost and its interest 1s 8kokugtogshou

What 1s the proportion of 1its interest 1n 1t?
Answer 20%

Commentary

When you add interest and a cost price,

Then it becomes 1728=123
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Edo-units-when measured in square corresponds to the volume (amount).

1 keku 18§0.39 liters 1 18.039 liter sake 1.S03911 if 1S0.39 ml 1
00.018039 Doo 11 klku = 10 = 100 Shou = 1000 if = 10,000 sixaku.
consumption-rice price and the amount of-1 stone (150 kg) per 39450
Yen -Adult male, 1 day o if (1.8 stone in one year) consumption nowadays
four family day to Cook rice quantity so reveals that had consumed a
large amount during the Edo period. Also, every vitamin b deficiencies
because less than the amount of vegetables eaten meals in the Edo period
rice accounted for the majority, did the disease called beriberi. The best
rice germ of rice has been stripped away during the Edo period Feast was
because seems diflicult to like so. take many samurai rice eaten daily
symptoms appearance farmers had eaten rice
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1t becomes 864shou, It 1s with 1.728shou when
you break this with 5%k, You open this up in a legislation by an open legislation.
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When base price add to interest makes S$64s"0v, this divides
byd00shou gjves 1.7 285h0u this is extracted cub by extraction
of cubic root and 1728 is equals 127,

(5008110“) (86 4sh0u)
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5005"9% x x(interest) X @ x x = 864

Second yearfl HiaeE i cc
The percentage of interest which carries on one year let X is.
In the case of this problem, interest is X3 because you have
borrowed 3%kt for three years. Three years later, it will be
§$6G4shou hecause you have borrowed 500shev,
Accordingly,

500, X x3 = 864

x=1.2
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We changed a used unit in Edo ,and were able to calculate
a unit used by this problem.
been able to wrestle about one problem
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Future tasks We were able to solve this question and change modern
translation and English version. But we were late for typing in the computer.
S0, having a next chance, we want to make the best of our experience.

IMPresSIoONS  For the first time we tried the question and we worked on
it from modern Japanese translation to English translation. We struggled
with old words and units and we felt it was difficult to solve the question of
the past from the present age, but by solving the question we can achieve a
sense of accomplishment that has never been tasted.
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